
www.baumer.com/motion 

Accessories

1

S
ub

je
ct

 to
 m

od
ifi

ca
tio

n 
in

 te
ch

ni
c 

an
d 

de
si

gn
. E

rr
or

s 
an

d 
om

is
si

on
s 

ex
ce

pt
ed

.
30

/1
/2

01
9

Mounting accessories

Dimensions

Part number

11120131 Mounting kit 3x M4 x 25 DIN912, A 4.3 
DIN125

Mounting kit M4 x 25

Features

–– Mounting kit M4 x 25 for GIM500R

Scope of delivery

Included: Screw 3x M4 x 25, washer A 4.3

3x M4 x 25 DIN912
(1.2 Nm)

A 4.3 DIN125

Assembly drawing

Suitable for

GIM500R


